Algebra 2 Fall Semester Final Exam Study Guide - Chapter 3 and 4 (Part 2)
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3.1: Solving Systems of Equations

1) -5x -y =12 )
« IX+y=-16 "y fo + ~X42y="4

«2)): - ax  =-8

4) Andre and Paul each mow lawns. Andre charges a $30 service fee and $10 per hour. Paul chargés a

[2)3x~2y=—4 3

)2y =
( ﬁay=8

‘ af-ox + 10y =-22)B "1 ae-fe,o\_/;h(ﬁ
(7x-8y = -18) o ~-TOX B0y =120

7@ -8y-p  [x=25)

~8y=-05 [Y210075)

$10 service fee and $15 per hour. After how many hours will Andre charge the same amount? Write a

system of equations to represent this sityation.

5 = #of hours

36*1’0)(:-\/ 5
|0+ (S =

3 = ot | amount
chou@ed

3.2: Solving Systems of inequalities by Graphing
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3.5: Operations with Matrices ‘
Perform the indicated operations. If the matrix does not exist, write impossible.

EERE (el n)
&)

3.6: Multiplying Matrices
Find each product, if possible.

RNt

2.0 == Solving Systems of Equations using Inverse Matrices
Find the inverse of each matrix, if it exists.

TR

18) 5x + 3y =4
3x+2y=0

c> 3 -
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Section 4.1 - Graphing Quadratic Functions X = - ’9/

For #1-4, find the y-intercept, the equation for the axis of symmetry and the coordinates for the vertex
(.a [

b
1)f(x) = 2x* + 10x + 24 2)1(x) = 6x* - 14x + 30 b/::a F[ })
-int! gﬂ \{ﬂm*f‘
AoSt =7 ==[ AoSt x= o= M RETT)

er{—e,( [(,a 5 1. 'ﬂ) vertex: |( El(ﬂ, 21_683)1

3) f(x) = 2% + 6x - 2 4) f(x) = -6x% + 24x -

yrint: Jrint:lZ 2]

AoS: X= 727 -q - AoS:x==1 {3] ~6(2) +24(2) -2

Vertes: vertex: W 24 ;;8 -2

Determine whether each function has a maximum or a mlmmum Then, find the maximum/minimum

value. —¥ V@VIFEK\. a<o a7Q
BT = +3x-1 = #2°15 6) 1) = -3x2 - 4x + 5 L4 4
b

g =x ¥ 5 X =
Maximom Moamum
| (165/ |025) E} 1,9, oz&

Section 4.2 - Solving Quadratic Equations by Graphing
Solve each equation by graphing. (hint: press 2ND, TRACE, to find the exact values for the zeros that
are between two numbers!)

8) 4x%-6x-15=0
X=-1.33
X = 4,03

Section 4.4 - Comple)é Numbers

Simplify.

1) V-8 12)(2-0)+ (13 + 4) 13) (8 + 20 - (4 - 30
'RERES (o5 —
PR . Lt 5':‘3

14) (6+51(3 2i) 15) (10 - 40)(3 - 2i)

1D - (2, +151 ~10,% ~3Q +0i 12} +8i %

(® t D) O 20+ 81 -8




Section 4.5 - Completing the Square C= C“z_

Find the value of ¢ that makes each trinomial a perfect square. Then, write the trinomial as a perfect
square.

16) x* +18x + ¢ 17Yx2-4x + ¢
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Section 4.6 - The|Quadratic Formulaand the Discriminant
For #22-24, Find the value of the discriminant, describe the number and type of roots, and find the

solutions by using the quadratic formula. Y [07— ~Hac

20)x2-2x+9=0 21) 252 + 19x- 33 = 0 22) 52~ 10x + 25 = 0
(-2Y-4H0)(9) 36! -4(2)(-33) 160 -H(1)(25)
=5 6325
2 complex L real
Soluhons | Soluthioni-
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| x=l

Solve each equation by factormg the quadratic formula, or completing the square.

9)2x?-2x-24=0 / 10) 2x* - 5x -3 = 0
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(x+2)(2x-BY=0

&-3 x =4 |




